(DME — Accessories

<08
’ Dowel pins with internal thread as per DIN EN 28735 - Type A Mat-:Gehard:650-750HV30}f W/ 7005 ————
13
R
L ©
o \\f__- _ / [ % E
& \ 8
\ ¢ t1
2 _[ | 2
Wz 7005 (6 (20 [06|Mé[15] 6 6[10]10] (WZ7005 [10[24 [1,0{M6[20[10[10]16]12| |WZ7005 [14 (32 [13|M8[25]12]16][ 1812
WZ7005 (6 (24 |06|Mé[15] 6| 6[10]10] |WZ7005 |10 (28 | 1,0{M6|20]10|10|16]12| |WZ7005 |14 (36 |13 |M8 25|12 16|18 1.2
WZ7005 (6 (28 |06|M[15] 6| 6[10[10] |WZ7005 |10 (32 | 1,0{M6|20]10|10|16]12| |WZ7005 14 (40 |13 |M8 25|12 16|18 1.2
WZ 7005 (6 (32 |06|M|15] 6| 6[10[10] |WZ7005 |10 (36 | 1,0{M6|20 10| 10|16 12| |WZ7005 |14 (45 |13 |M8 25|12 16|18 1.2
WZ7005 (6 (36 |06|M[15]6 | 6[10]10] |WZ7005 |10 (40 | 1,0{M6|20] 10| 10|16]12| |WZ7005 |14 |50 |13 |M8 25|12 16|18 1.2
WZ 7005 (6 (40 |06/ M4[15] 6| 6 (1010 |WZ7005 |10 (45 |1,0{M6|20] 10|10/ 16]12| |WZ7005 14 60 |13 |M8| 25|12 16|18 1.2
WZ 7005 (6 (45 |06/ M4|15] 6| 6[10[10] |WZ7005 |10 50 | 1,0{M6|20 10| 10|16 12| |WZ7005 14 (80 |13 |M8 25| 1216|1812
WZ 7005 (6 (50 |06/ Mé[15] 6| 6[10]10] |WZ7005 |10 |60 | 1,0{M6|20] 10|10/ 16]12| |WZ7005 14 (100 |13 |M8 25|12 | 16|18 1,2
WZ 7005 (6 (60 |06|M[15] 6 6[10[10] |WZ7005 10|70 | 1,0{M6|20] 10| 10|16]12| |WZ7005 |16 (40 |17 |M8 30|16 16|23 |16
WZ7005 (8 (20 |08 |M5|18| 8 | 8 |13[12| |WZ7005 |10 (80 | 1,0{M6|20 10| 10|16 12| |WZ7005 |16 (45 |17 |M8 30|16 16|23 |16
Wz7005 (8 (24 |08 |M5[18| 8| 8[13]12] |WZ7005 |10 (100 | 1,0{M6|20 10| 10|16]12| |WZ7005 |16 (50 |17 |M8 30|16 16|23 |16
WZ7005 |8 (28 |08 |M5|18| 8 |8 |13[12| |WZ7005 |12 |32 |13 |M6|25| 12|12 |18[12| |[WZ7005 16 |60 |17 M8 |30/ 1616|2316
WZ7005 |8 (32 | 08|M5|18| 8 |8 |13[12| |WZ7005 [12 |36 |13 | Mo|25|12|12|18[12| |[WZ7005 16 |80 |17 M8 |30/ 16 16|23 16
WZ7005 |8 (36 |08 |M5|18| 8 |8 |13][12| |WZ7005 [12 |40 |13 | M6|25| 12|12 |18[12| |[WZ7005 16 |100 |17 M8 |30/ 16| 16|23 16
WZ7005 (8 (40 |08 |M5[18| 8 | 8 [13]12] (WZ7005 [12 (45 |13[M6|25/ 12| 12|18 12| |WZ7005 |20 [50 |20 |M10[40| 20| 20|27 |16
WZ7005 (8 (45 |08 |M5|18| 8 |8 |13[12| [WZ7005 [12 |50 |13 | M6|25| 12| 12| 18[12| |[WZ7005 20 |60 |20 M10[40|20] 20|27 16
WZ7005 |8 (50 |08 |M5|18| 8 |8 |13][12| |WZ7005 [12 |60 |13 | Mo|25|12|12|18[12| |(WZ7005 20 |80 |20 M10[40|20] 20|27 16
WZ7005 8 (60 |08 |M5[18| 8 |8 |13[12| |WZ7005 [12 |70 |13 |M6|25| 12| 12|18 [12| |WZ7005 20 100 |20 M10[40| 20|20 |27 |16
WZ7005 (8 (70 |08 |M5[18| 8 |8 |13[12| |WZ7005 12 |80 |13 |Mo6|25| 12| 12| 1812
WZ7005 |8 |80 | 08|M5[18| 8 |8 |13]12| |WZ7005 12|90 |13 |M6|25| 12| 12| 1812
WZ 7005 {12 |[100 |13 M6 |25 12| 12| 18|12

17/09/2012

EVERY STEP OF THE WAY



. Y7 T
Accessories (DME
D P { Dowel pins Mat.: DIN 6325 1SO 8734 60 HRC ’
L2 L1
B €
b S
\ b
M e

DP 1,5-6 0,5 0,23 0,12 1,6 DP 5-8 1,2 0,75 0,50 5,0 DP 10-16 2,0 1,50 1,00 10,0
DP 1,5-8 0,5 0,23 0,12 1,6 DP 5-10 1,2 0,75 0,50 5,0 DP 10-24 20 1,50 1,00 10,0
DP 1,5-10 0,5 0,23 0,12 1,6 DP 5-12 1,2 0,75 0,50 5,0 DP 10-28 2,0 1,50 1,00 10,0
DP 1,5-12 0,5 0,23 0,12 1,6 DP 5-14 1,2 0,75 0,50 5,0 DP 10-30 2,0 1,50 1,00 10,0
DP 1,5-14 0,5 0,23 0,12 1,6 DP 5-16 1,2 0,75 0,50 5,0 DP 10-32 2,0 1,50 1,00 10,0
DP 1,5-16 0,5 0,23 0,12 1,6 DP 5-18 1,2 0,75 0,50 5,0 DP 10-36 2,0 1,50 1,00 10,0
DP 1,5-20 0,5 0,23 0,12 1,6 DP 5-20 1,2 0,75 0,50 5,0 DP 10-40 2,0 1,50 1,00 10,0
DP 2-6 0,6 0,30 0,18 2,0 DP 5-24 1,2 0,75 0,50 5,0 DP 10-45 2,0 1,50 1,00 10,0
DP 2-8 0,6 0,30 0,18 2,0 DP 5-28 1,2 0,75 0,50 5,0 DP 10-50 2,0 1,50 1,00 10,0
DP 2-10 0,6 0,30 0,18 2,0 DP 5-32 1,2 0,75 0,50 5,0 DP 10-55 2,0 1,50 1,00 10,0
DP 2-12 0,6 0,30 0,18 2,0 DP 5-36 1,2 0,75 0,50 5,0 DP 10-60 2,0 1,50 1,00 10,0
DP 2-14 0,6 0,30 0,18 2,0 DP 5-40 1,2 0,75 0,50 5,0 DP 10-70 2,0 1,50 1,00 10,0
DP 2-16 0,6 0,30 0,18 2,0 DP 5-45 1,2 0,75 0,50 5,0 DP 10-80 2,0 1,50 1,00 10,0
DP 2-18 0,6 0,30 0,18 2,0 DP 5-50 1,2 0,75 0,50 5,0 DP 10-90 2,0 1,50 1,00 10,0
DP 2-20 0,6 0,30 0,18 2,0 DP 6-10 1,5 0,90 0,60 6,0 DP 10-100 2,0 1,50 1,00 10,0
DP 2,5-6 0,7 0,40 0,25 25 DP 6-14 1,5 0,90 0,60 6,0 DP 12-28 2,5 1,80 1,30 12,0
DP 2,5-8 0,7 0,40 0,25 25 DP 6-16 1,5 0,90 0,60 6,0 DP 12-32 25 1,80 1,30 12,0
DP 2,5-10 0,7 0,40 0,25 25 DP 6-18 1,5 0,90 0,60 6,0 DP 12-36 2,5 1,80 1,30 12,0
DP 2,5-12 0,7 0,40 0,25 25 DP 6-20 1,5 0,90 0,60 6,0 DP 12-40 2,5 1,80 1,30 12,0
DP 2,5-14 0,7 0,40 0,25 25 DP 6-24 1,5 0,90 0,60 6,0 DP 12-45 25 1,80 1,30 12,0
DP 2,5-16 0,7 0,40 0,25 25 DP 6-28 1,5 0,90 0,60 6,0 DP 12-50 2,5 1,80 1,30 12,0
DP 2,5-18 0,7 0,40 0,25 25 DP 6-32 1,5 0,90 0,60 6,0 DP 12-55 2,5 1,80 1,30 12,0
DP 2,5-20 0,7 0,40 0,25 25 DP 6-36 1,5 0,90 0,60 6,0 DP 12-60 2,5 1,80 1,30 12,0
DP 2,5-24 0,7 0,40 0,25 25 DP 6-40 1,5 0,90 0,60 6,0 DP 12-70 2,5 1,80 1,30 12,0
DP 3-8 0,8 0,45 0,30 3,0 DP 6-45 1,5 0,90 0,60 6,0 DP 12-80 2,5 1,80 1,30 12,0
DP 3-10 038 0,45 0,30 3,0 DP 6-50 1,5 0,90 0,60 6,0 DP 12-90 25 1,80 1,30 12,0
DP 3-12 0,8 0,45 0,30 3,0 DP 6-55 1,5 0,90 0,60 6,0 DP 12-100 2,5 1,80 1,30 12,0
DP 3-14 0,8 0,45 0,30 3,0 DP 6-60 1,5 0,90 0,60 6,0 DP 14-40 2,5 2,00 1,30 14,0
DP 3-16 038 0,45 0,30 3,0 DP 8-18 18 1,20 0,80 8,0 DP 14-45 25 2,00 1,30 14,0
DP 3-18 0,8 0,45 0,30 3,0 DP 8-20 18 1,20 0,80 8,0 DP 14-50 2,5 2,00 1,30 14,0
DP 3-20 0,8 0,45 0,30 3,0 DP 8-24 18 1,20 0,80 8,0 DP 14-60 2,5 2,00 1,30 14,0
DP 3-24 038 0,45 0,30 3,0 DP 8-28 18 1,20 0,80 8,0 DP 14-70 25 2,00 1,30 14,0
DP 3-28 0,8 0,45 0,30 3,0 DP 8-32 18 1,20 0,80 8,0 DP 14-80 2,5 2,00 1,30 14,0
DP 3-32 0,8 0,45 0,30 3,0 DP 8-36 18 1,20 0,80 8,0 DP 14-90 2,5 2,00 1,30 14,0
DP 3-50 038 0,45 0,30 3,0 DP 8-40 18 1,20 0,80 8,0 DP 14-100 25 2,00 1,30 14,0
DP 4-10 1,0 0,60 0,40 40 DP 8-45 18 1,20 0,80 8,0 DP 14-120 2,5 2,00 1,30 14,0
DP 4-12 1,0 0,60 0,40 40 DP 8-50 18 1,20 0,80 8,0 DP 16-50 3,0 2,50 1,70 16,0
DP 4-14 1,0 0,60 0,40 40 DP 8-55 18 1,20 0,80 8,0 DP 16-60 3,0 2,50 1,70 16,0
DP 4-16 1,0 0,60 0,40 40 DP 8-60 18 1,20 0,80 8,0 DP 16-70 3,0 2,50 1,70 16,0
DP 4-18 1,0 0,60 0,40 40 DP 8-70 18 1,20 0,80 8,0 DP 16-80 3,0 2,50 1,70 16,0
DP 4-20 1,0 0,60 0,40 40 DP 8-80 18 1,20 0,80 8,0 DP 16-100 3,0 2,50 1,70 16,0
DP 4-24 1,0 0,60 0,40 40 DP 8-100 18 1,20 0,80 8,0 DP 16-120 3,0 2,50 1,70 16,0
DP 4-28 1,0 0,60 0,40 40 DP 16-140 3,0 2,50 1,70 16,0
DP 4-30 1,0 0,60 0,40 40 DP 20-60 4,0 3,00 2,00 20,0
DP 4-32 1,0 0,60 0,40 40 DP 20-80 4,0 3,00 2,00 20,0
DP 4-36 1,0 0,60 0,40 40 DP 20-100 4,0 3,00 2,00 20,0
DP 4-40 1,0 0,60 0,40 40 DP 20-120 4,0 3,00 2,00 20,0
DP 4-45 1,0 0,60 0,40 40

DP 4-50 1,0 0,60 0,40 40

17/09/2012

- 90 - www.dmeeu.com EVERY STEP OF THE WAY



Socket head cap screws DIN 912 - 12,9

Accessories _@%

@E’]i

_—

o] 5 D
| &
\@ ﬂ s
k
M3x10 [M3] 10 55 3 15 | (mM8x75 || 2 9 8 6 M12x75 |[Mi2| 28 18 12 10
M4 x 8 m 7 4 3 mM8x80 | M| 30 8 6 M12x80 |Mi2| 8 18 1 10
Max10 | M4| 1 7 4 3 mM8x90 | M| 31 8 6 M12x90 |Mi2| 8 18 1 10
Max20 | M4| 1 7 4 3 M8x100 | M| 2 3 8 6 M12x100 [M2| 28 18 1 10
Max30 | M4| 1 7 4 3 M8x110 | M| 2 33 8 6 M12x110 [M2| 28 18 1 10
M5x10 [ Ms| 15 9 5 4 M8x120 | M| 34 8 6 M12x120 [M2| 28 18 1 10
M5x16 | Ms| 15 9 5 4 M8x130 | M| 2 35 8 6 M12x 130 [M2| 28 18 1 10
M5x20 | Ms| 15 9 5 4 M8x140 | M| 2 36 8 6 M12x 140 [M2| 28 18 1 10
M5x25 | Ms5| 15 9 5 4 M8x150 |Ms| 2 37 8 6 M12x 150 [M2| 28 18 1 10
M5x35 | Ms| 15 9 5 4 M8x160 | M| 2 38 8 6 M12x160 |M2| 28 18 1 10
M6 x 8 Me| 18 10 6 5 M8x180 | M| n 39 8 6 M12x170 [Mi2| 28 18 1 10
M6x10 | M6| 18 10 6 5 M10x12 [Mi0| 25 16 10 8 M12x 180 |M2| 18 18 1 10
M6x12 | M6| 18 10 6 5 M10x16 |MI0| 25 16 10 8 M12x190 [M2| 28 18 1 10
M6x14 | M6| 18 10 6 5 M10x20 [Mi0| 25 16 10 8 M12x200 [M2| 28 18 1 10
M6x16 | M6| 18 10 6 5 M10x22 [Mi0| 25 16 10 8 M12x220 [M2| 28 18 1 10
M6x18 | M6| 18 10 6 5 M10x25 [Mi0| 25 16 10 8 M12x260 |M2| 28 18 1 10
M6x20 | Ms| 18 10 6 5 M10x30 [Mi0| 25 16 10 8 M16x30 |Mi6| 38 u 16 14
M6x22 | M6| 18 10 6 5 M10x35 [Mi0| 25 16 10 8 M16x35 |Mi6| 38 u 16 14
M6x25 | M6| 18 10 6 5 M10x40 [Mi0| 25 16 10 8 M16x40 |Mi6| 38 u 16 14
M6x30 | Ms| 18 10 6 5 M10x45 [Mi0| 25 16 10 8 M16x45 |Mi6| 38 u 16 14
M6x35 | M6| 18 10 6 5 M10x50 |Mi0| 25 16 10 8 M16x50 |Mi6| 38 u 16 14
M6x40 | M6| 18 10 6 5 M10x55 |Mi0| 25 16 10 8 M16x60 |Mi6| 38 u 16 14
M6x45 | M6| 18 10 6 5 M10x60 |Mi0| 25 16 10 8 M16x65 |M6| 38 u 16 14
M6x50 | M6| 18 10 6 5 M10x65 |MI0| 25 16 10 8 M16x70 |Mi6| 38 u 16 14
M6x55 | M6| 18 10 6 5 M10x70 [Mi0| 25 16 10 8 M16x80 |Mi6| 38 u 16 14
M6x60 | M6| 18 10 6 5 M10x75 [Mi0| 25 16 10 8 M16x 100 [Mi6| 38 u 16 14
M6x65 | M6| 18 10 6 5 M10x80 |Mi0| 25 16 10 8 M16x 120 |Mi6| 38 u 16 14
M6x70 | M6| 18 10 6 5 M10x90 [Mi0| 25 16 10 8 M16x 130 M| 44 u 16 14
M6x75 | M6| 18 10 6 5 M10x 100 [Mi0| 25 16 10 8 M16x 140 M| 4 u 16 14
M6x80 | M| 18 10 6 5 M10x 110 [Mi0| 25 16 10 8 M16x 150 |Mi6| 44 u 16 14
M6x90 | M| 18 10 6 5 M10x 120 [Mi0| 25 16 10 8 M16x 160 |Mi6| 44 u 16 14
M6x100 | M| 18 10 6 5 M10x 130 [Mi0| 25 16 10 8 M16x 180 M| 4 u 16 14
M6x110 | M| 18 10 6 5 M10x 140 [Mi0| 25 16 10 8 M16x 190 |Mi6| 44 u 16 14
M6x120 | M| 18 10 6 5 M10x 150 [Mi0| 25 16 10 8 M16x 200 |Mi6| 57 u 16 14
M6x160 | M| 18 10 6 5 M10x 160 [MI0| 25 16 10 8 M16x210 [Mi6| 57 u 16 14
mM8x10 |[M8| 2 13 8 6 M10x 170 [Mi0| 25 16 10 8 M16x220 |Mi6| 57 u 16 14
mM8x12 |[M8| 2 14 8 6 M10x 180 [Mi0| 25 16 10 8 M16x 240 |Mi6| 57 u 16 14
M8x16 |Ms| 2 15 8 6 M10x200 [Mi0| 25 16 10 8 M16x 260 |Mi6| 57 u 16 14
mM8x18 |[M8| 2 16 8 6 M10x260 [Mi0| 25 16 10 8 M16x 300 |Mi6| 57 u 16 14
M8x20 |M8| 2 17 8 6 M10x280 [Mi0| 25 16 10 8 M20x60 |M0| 5 30 0 17
M8x22 |M8| 2 18 8 6 M12x20 |[M12[ 28 18 1 0 | [M20x120 [M0[ % 30 0 17
M8x25 |M8| 2 19 8 6 M12x25 |M12[ 28 18 1 0 | [M20x140 [M0[ % 30 0 17
M8x30 |Ms| 2 0 8 6 M12x30 |M12[ 28 18 1 0 | [M20x150 (M| 5 30 0 17
M8x35 |M8| 2 2 8 6 M12x35 |[M12[ 28 18 1 0 | [M20x160 (M| 5 30 0 17
M8x40 |Ms| 2 2 8 6 M12x40 |M12[ 28 18 1 0 | [M20x180 (M| % 30 0 17
M8x45 |Ms| 2 3 8 6 M12x45 |[M12[ 28 18 1 0 | [M20x200 [Mn| 65 30 0 17
M8x50 |M8| 2 u 8 6 M12x50 |M12[ 28 18 1 0 | [M20x210 (M| 65 30 0 17
M8x55 |M8| 2 2 8 6 M12x55 |Mi2[ 28 18 1 0 | [M20x240 [Mn] 65 30 0 17
. M8x60 |Ms| 2 % 8 6 M12x60 |M12[ 28 18 1 0 | [M20x260 [Mw| 65 30 0 17
g M8x65 |Ms| 2 i 8 6 M12x65 |M12[ 28 18 1 0 | [M20x300 [Mn| - 30 0 17
g mM8x70 |[M8| 2 3 8 6 M12x70 |M12[ 28 18 1 10

EVERY STEP OF THE WAY

www.dmeeu.com - 91 -



- “—PME —
Accessories - DME
—1S610 { Socket head cap screws DIN 912- 10,9 ’
o [ B
\GD b s

LS L -
1S 610- M3x12 M3 55 3 25 1S 610- M6x80 Mo 10 6 5
1S 610- M3x16 M3 55 3 25 1S 610- M6x90 Mo 10 6 5
1S 610- M3x20 M3 55 3 25 1S 610- M6x100 Mo 10 6 5
1S 610- M3x25 M3 55 3 25 1S 610- M6x110 Mo 10 6 5
1S 610- M4x6 M4 7 4 3 1S 610- M6x120 Mo 10 6 5
IS 610- M4x8 M4 7 4 3 1S 610- M8x10 M8 13 8 6
1S 610- M4x10 M4 7 4 3 1S 610- M8x12 M8 13 8 6
1S 610- M4x12 M4 7 4 3 1S 610- M8x16 M8 13 8 6
1S 610- M4x14 M4 7 4 3 1S 610- M8x18 M8 13 8 6
1S 610- M4x16 M4 7 4 3 1S 610- M8x20 M8 13 8 6
1S 610- M4x18 M4 7 4 3 1S 610- M8x22 M8 13 8 6
1S 610- M4x20 M4 7 4 3 1S 610- M8x25 M8 13 8 6
1S 610- M4x22 M4 7 4 3 1S 610- M8x30 M8 13 8 6
1S 610- M4x25 M4 7 4 3 1S 610- M8x35 M8 13 8 6
1S 610- M4x30 M4 7 4 3 1S 610- M8x40 M8 13 8 6
1S 610- M4x35 M4 7 4 3 1S 610- M8x45 M8 13 8 6
1S 610- M4x40 M4 7 4 3 1S 610- M8x50 M8 13 8 6
1S 610- M5x10 M5 85 5 4 IS 610- M8x55 M8 13 8 6
1S 610- M5x12 M5 85 5 4 1S 610- M8x60 M8 13 8 6
1S 610- M5x14 M5 85 5 4 1S 610- M8x65 M8 13 8 6
1S 610- M5x16 M5 85 5 4 1S 610- M8x70 M8 13 8 6
1S 610- M5x20 M5 85 5 4 1S 610- M8x75 M8 13 8 6
1S 610- M5x22 M5 85 5 4 1S 610- M8x80 M8 13 8 6
1S 610- M5x25 M5 85 5 4 1S 610- M8x90 M8 13 8 6
1S 610- M5x30 M5 85 5 4 1S 610- M8x100 M8 13 8 6
1S 610- M5x35 M5 85 5 4 1S 610- M8x110 M8 13 8 6
1S 610- M5x40 M5 85 5 4 1S 610- M8x120 M8 13 8 6
1S 610- M5x45 M5 85 5 4 1S 610- M8x130 M8 13 8 6
1S 610- M5x50 M5 85 5 4 1S 610- M8x140 M8 13 8 6
IS 610- M5x55 M5 85 5 4 1S 610- M8x150 M8 13 8 6
1S 610- M5x60 M5 85 5 4 1S 610- M8x160 M8 13 8 6
1S 610- M6x8 Mo 10 6 5 1S 610- M8x180 M8 13 8 6
1S 610- M6x10 Mo 10 6 5 1S 610- M8x200 M8 13 8 6
1S 610- M6x12 Mo 10 6 5 1S610-M10x16 M10 16 10 8
1S 610- M6x14 Mo 10 6 5 1S 610- M10x20 M10 16 10 8
1S 610- M6x16 Mo 10 6 5 1S 610- M10x22 M10 16 10 8
1S 610- M6x18 Mo 10 6 5 1S 610- M10x25 M10 16 10 8
1S 610- M6x20 Mo 10 6 5 1S 610- M10x30 M10 16 10 8
1S 610- M6x22 Mo 10 6 5 1S 610- M10x35 M10 16 10 8
1S 610- M6x25 Mo 10 6 5 1S 610- M10x40 M10 16 10 8
1S 610- M6x30 Mo 10 6 5 1S 610- M10x45 M10 16 10 8
1S 610- M6x35 Mo 10 6 5 1S 610- M10x50 M10 16 10 8
1S 610- M6x40 Mo 10 6 5 1S 610- M10x55 M10 16 10 8
1S 610- M6x45 Mo 10 6 5 1S 610- M10x60 M10 16 10 8
1S 610- M6x50 Mo 10 6 5 1S 610- M10x65 M10 16 10 8
1S 610- M6x55 Mo 10 6 5 1S 610- M10x70 M10 16 10 8
1S 610- M6x60 Mo 10 6 5 1S 610- M10x75 M10 16 10 8
1S 610- M6x65 Mo 10 6 5 1S 610- M10x80 M10 16 10 8
1S 610- M6x70 Mo 10 6 5 1S 610- M10x90 M10 16 10 8 g
1S 610- M6x75 Mo 10 6 5 1S610-M10x100 M10 16 10 8 3

- 92 - www.dmeeu.com EVERY STEP OF THE WAY



 DME Accessories _@%

@E’]i
’ Socket head cap screws DIN 912 - 10,9 IL S610 ————
\@ ~—
b s
L L -

IS 610- M10x110 M10 16 10 8 IS 610- M16x120 M6 24 16 14
IS 610- M10x120 M10 16 10 8 IS 610- M16x130 M6 24 16 14
IS 610- M10x130 M10 16 10 8 IS 610- M16x140 M6 24 16 14
IS 610- M10x140 M10 16 10 8 IS 610- M16x150 M6 24 16 14
IS 610- M10x150 M10 16 10 8 IS 610- M16x160 M6 24 16 14
IS 610- M10x160 M10 16 10 8 IS 610-M16x170 M6 24 16 14
IS 610- M10x170 M10 16 10 8 IS 610- M16x180 M6 24 16 14
IS 610- M10x180 M10 16 10 8 IS 610- M16x190 M6 24 16 14
IS 610- M10x200 M10 16 10 8 IS 610- M16x200 M16 24 16 14
IS 610- M12x20 M12 18 12 10 IS 610-M16x210 M6 24 16 14
IS 610- M12x25 M12 18 12 10 IS 610- M16x220 M6 24 16 14
IS 610- M12x30 M12 18 12 10 IS 610- M16x240 M6 24 16 14
IS 610- M12x35 M12 18 12 10 IS 610- M16x260 M6 24 16 14
IS 610- M12x40 M12 18 12 10 IS 610- M16x280 M6 24 16 14
IS 610- M12x45 M12 18 12 10 IS 610- M16x300 M6 24 16 14
IS 610- M12x50 M12 18 12 10 IS 610- M20x50 M20 30 20 17
IS 610- M12x55 M12 18 12 10 IS 610- M20x55 M20 30 2 17
IS 610- M12x60 M12 18 12 10 IS 610- M20x60 M20 30 20 17
IS 610- M12x65 M12 18 12 10 IS 610- M20x65 M20 30 20 17
IS 610- M12x70 M12 18 12 10 IS 610- M20x70 M20 30 20 17
IS 610- M12x75 M12 18 12 10 IS 610- M20x75 M20 30 2 7
IS 610- M12x80 M12 18 12 10 IS 610- M20x80 M20 30 20 17
1S 610- M12x90 M12 18 12 10 IS 610- M20x90 M20 30 20 17
IS 610- M12x100 M12 18 12 10 IS 610- M20x100 M20 30 20 17
IS 610- M12x110 M12 18 12 10 IS 610- M20x110 M20 30 2 17
IS610- M12x120 M12 18 12 10 IS 610- M20x120 M20 30 20 17
IS610- M12x130 M12 18 12 10 IS 610- M20x130 M20 30 20 17
IS 610- M12x140 M12 18 12 10 IS 610- M20x140 M20 30 2 17
IS 610- M12x150 M12 18 12 10 IS 610- M20x150 M20 30 2 17
IS 610- M12x160 M12 18 12 10 IS 610- M20x160 M20 30 20 17
IS 610- M12x170 M12 18 12 10 IS 610- M20x170 M20 30 2 17
IS 610- M12x180 M12 18 12 10 IS 610- M20x180 M20 30 20 17
IS 610- M12x190 M12 18 12 10 IS 610- M20x190 M20 30 20 17
1S 610- M12x200 M12 18 12 10 IS 610- M20x200 M20 30 20 17
IS 610- M16x20 M16 24 16 14 IS 610- M20x220 M20 30 20 17
IS 610- M16x22 M16 24 16 14 IS 610- M20x240 M20 30 20 17
IS 610- M16x25 M16 24 16 14 1S 610- M20x260 M20 30 20 17
IS 610- M16x30 M16 24 16 14 IS 610- M20x280 M20 30 20 17
IS 610- M16x35 M16 24 16 14 IS 610- M20x300 M20 30 20 17
IS 610- M16x45 M6 24 16 14 IS 610- M24x50 M24 36 24 19
IS 610- M16x50 M6 24 16 14 IS 610- M24x60 M24 36 24 19
IS 610- M16x55 M6 24 16 14 IS 610- M24x70 M24 36 24 19
IS 610- M16x60 M16 24 16 14 IS 610- M24x80 M24 36 24 19
IS 610- M16x65 M6 24 16 14 IS 610- M24x90 M24 36 24 19
IS 610- M16x70 M6 24 16 14 IS 610- M24x150 M24 36 24 19
IS 610- M16x75 M6 24 16 14 IS 610- M24x160 M24 36 24 19
IS 610- M16x80 M16 24 16 14 IS 610- M24x260 M24 36 24 19

IS 610- M16x90 M16 24 16 14

g 1S610- M16x100 M16 24 16 14

3 1S610-M16x110 M16 % 16 14

EVERY STEP OF THE WAY



Accessories A -
R 54 I Spring washers Mat. DIN 7980
REFdxT d2 [ d [ T
R544x1,2 7 4 12
R545x1,6 88 5 16
R546x1,6 99 6 16
A \ R548x2 12,7 8 2
- N R5410x2,5 16 10 25
= Q R5412x2,5 18 12 25
) | R5416x3,5 244 16 35
T R5420x4,5 306 2 45
R5424x5 359 24 5

R18 I Disks Mat.: 11730
R1818 18 M4
R18 28 28 M4

SM
)
@D

SB I Spacer washers for ejector plates Mat.: 1.2312
SB2 16
SB3 26

4 =001

17/09/2012

EVERY STEP OF THE WAY




. q
(DME Accessories
’ Socket head countersunk screws Mat: DIN 7991-10.9 SM
BV
S 1 =2 i
Q v Q T
Y
T

4 |k 5
SM 3-10 10 M3 17 2,0 6
SM 3-12 12 M3 17 2,0 6
SM 3-16 16 M3 17 2,0 6
SM 3-20 20 M3 17 2,0 6
SM 3-25 25 M3 17 2,0 6
SM 3-30 30 M3 17 2,0 6
SM 4-8 8 M4 23 25 8
SM 4-10 10 M4 23 25 8
SM 4-12 12 M4 23 25 8
SM 4-16 16 M4 23 25 8
SM 4-20 20 M4 23 25 8
SM 4-25 25 M4 23 25 8
SM 4-30 30 M4 23 25 8
SM5-10 10 M3 28 30 10
SM 5-12 12 M5 28 3,0 10
SM 5-16 16 M3 28 30 10
SM 5-20 20 M5 28 3,0 10
SM 5-25 25 M5 28 3,0 10
SM 5-30 30 M5 28 3,0 10
SM 5-40 40 M3 28 30 10
SM6-10 10 M6 33 40 12
SM 6-12 12 M6 33 40 12
SM 6-16 16 M6 33 40 12
SM 6-20 20 M6 33 40 12
SM 6-25 25 M6 33 40 12
SM 6-30 30 M6 33 40 12
SM 6-35 35 M6 33 40 12
SM 6-40 40 M6 33 40 12
SM 8-16 16 M8 44 50 16
SM 8-20 20 M8 44 50 16
SM 8-25 25 M8 44 50 16
SM 8-30 30 M8 44 50 16
SM 8-35 35 M8 44 50 16
SM 8-40 40 M8 44 50 16
SM 8-45 45 M8 44 50 16
SM 8-50 50 M8 44 50 16
SM 10-16 16 M10 55 60 2
SM 10-20 2 M10 55 60 2
SM 10-25 25 M10 55 60 2
SM 10-30 30 M10 55 60 2
SM 10-35 35 M10 55 60 2
SM 10-40 40 M10 55 60 2
SM 10-45 45 M10 55 60 2
SM 10-50 50 M10 55 60 2
SM 12-20 20 M12 6,5 8,0 24

17/09/2012

EVERY STEP OF THE WAY

www.dmeeu.com - 95 -



Accessories ; -

GS 913 { Grub screws Mat. DIN 913—45H’

GS913 3-4 4 M3 25 15 GS913 8-10 10 M8 50 4,0
GS 913 3-5 5 M3 25 15 GS913 8-12 12 M8 50 4,0
GS913 3-6 6 M3 25 15 GS913 8-16 16 M8 50 4,0
GS913 3-8 8 M3 25 15 GS 913 8-20 20 M8 50 4,0
GS913 3-10 10 M3 25 15 GS913 8-25 25 M8 50 4,0
GS913 3-16 16 M3 25 15 GS 913 8-30 30 M8 50 4,0
GS913 4-4 4 M4 25 20 GS913 8-35 35 M8 50 4,0
GS913 4-5 5 M4 25 20 GS913 10-10 10 M10 6,0 50
GS913 4-6 6 M4 25 20 GS913 10-12 12 M10 6,0 50
GS913 4-8 8 M4 25 20 GS913 10-16 16 M10 6,0 50
GS913 4-10 10 M4 25 20 GS 913 10-20 20 M10 6,0 50
GS913 4-12 12 M4 25 20 GS 913 10-25 25 M10 6,0 50
GS913 4-16 16 M4 25 20 GS 913 10-30 30 M10 6,0 50
GS 913 4-20 20 M4 25 20 GS913 10-35 35 M10 6,0 50
GS 913 5-5 5 M5 30 25 GS 913 10-40 10 M10 6,0 50
GS 913 5-6 6 M5 30 25 GS 913 10-50 50 M10 6,0 50
GS913 5-8 8 M5 30 25 GS913 12-12 12 M12 8,0 6,0
GS913 5-10 10 M5 30 25 GS913 12-16 16 M12 8,0 6,0
GS913 5-12 12 M5 30 25 GS 913 12-20 20 M12 8,0 6,0
GS 913 5-16 16 M5 30 25 GS913 12-25 25 M12 8,0 6,0
GS 913 5-20 20 M5 30 25 GS 913 12-30 30 M12 8,0 6,0
GS 913 5-25 25 M5 30 25 GS913 12-35 35 M12 8,0 6,0
GS 913 6-6 6 M6 35 30 GS 913 12-40 40 M12 8,0 6,0
GS913 6-8 8 M6 35 30 GS 913 12-50 50 M12 8,0 6,0
GS913 6-10 10 Mé 35 30 GS913 16-16 16 M16 10,0 8,0
GS913 6-12 12 Mé 35 30 GS 913 16-20 20 M16 10,0 8,0
GS913 6-16 16 Mé 35 30 GS 913 16-25 25 M16 10,0 8,0
GS 913 6-20 20 Mé 35 30 GS 913 16-30 30 M16 10,0 8,0
GS 913 6-25 25 Mé 35 30 GS 913 16-35 35 M16 10,0 8,0
GS 913 6-30 30 Mé 35 30 GS 913 16-40 40 M16 10,0 8,0
GS 913 6-40 40 Mé 35 30 GS 913 16-50 50 M16 10,0 8,0
GS913 8-8 8 M8 50 40

17/09/2012

EVERY STEP OF THE WAY



- A
’ Grub screws Mat.: DIN 913-45H }— GS915 ———
8
|
= i (AR
< El | v/
‘ ~1
22
I
GS 915 4x10 10 M4 25 2 3,0
GS 915 6x10 10 M6 4,0 3 35
GS 915 6x16 16 M6 4,0 3 35
GS 915 6x20 20 M6 40 3 35
GS 915 6x25 25 M6 40 3 35
GS 915 8x20 20 M8 55 4 50
GS 915 8x25 25 M8 55 4 50
GS 915 8x30 30 M8 55 4 50
GS 915 10x20 20 M10 70 5 55
GS 915 10x25 25 M10 70 5 55
GS 915 10x30 30 M10 70 5 55
GS 915 10x40 40 M10 7,0 5 55
GS 915 10x50 50 M10 70 5 55
GS 915 12x20 20 M12 8,5 6 7,0
GS 915 12x25 25 M12 8,5 6 7,0
GS 915 12x30 30 M12 8,5 6 7,0
GS 915 12x35 35 M12 8,5 6 7,0
GS 915 12x40 40 M12 8,5 6 7,0
GS 915 12x50 50 M12 8,5 6 7,0
GS 915 16x30 30 M16 12,0 8 9,0
GS 915 16x40 40 M16 12,0 8 9,0
GS 915 16x45 45 M16 12,0 8 9,0
GS 915 16x60 60 M16 12,0 8 9,0

17/09/2012

EVERY STEP OF THE WAY

www.dmeeu.com - 97 -



A ri
ccessories ‘ - A
FD { Spring loaded set screws Mat.: 1.0716-100°C
FD3x7 7 15 05 2 3 M3
FD4x9 9 25 08 4 10 Ma
s FD5x12 12 30 09 6 11 M5
g T Sl FD6x14 14 35 10 9 15 M6
= N FD8x16 16 50 15 18 30 M8
FD10x 19 19 6,0 20 2 40 M10
S FD12x22 2 80 25 30 55 12
L FD16x24 % 100 35 65 120 M16
FD20x 30 30 120 45 90 140 M20
FD24x34 34 150 55 125 180 M4
‘ *N1~ = Starting load **N2~ = Final load ‘
FDV { Spring washers Mat: 1.4305-350°C
FDV3x7 7 15 05 2 3 M3
FDV4x9 9 25 08 4 10 M4
g FDV5x12 12 3 09 6 11 M5
1 | FDV6 x 14 14 35 1 9 15 M6
S| = N FDV8x 16 16 5 15 18 30 M8
FDV10x 19 19 6 2 20 40 M10
S FDV 12x 22 2 8 25 30 55 12
L FDV 16 x 24 % 10 35 65 120 M16
FDV 20x 30 30 12 45 90 140 M20
_ FDV 24 x 34 34 15 55 125 180 M24
% *N1~ = Starting load **N2~ = Final load ‘
FM { Spring washers Mat. 1.0716 ’
FM4x9 9 18 15 6 16 Ma
FM5x12 12 24 20 6 17 M5
5 FM6x 14 14 27 20 7 18 M6
1 Q FM8x16 16 40 20 2 35 M8
S| E 3 FM10x 19 19 45 25 20 45 M10
FM 12x 22 0 6,0 35 25 60 M12
S FM 16 x 24 2% 85 45 50 95 M16
L FM 20 x 30 30 100 6,5 80 140 M20
FM 24 x 34 34 120 80 100 180 M4
. *N1~ = Starting load **N2~ = Final load ‘
W/ 8090 { Spring loaded set screws (with internal hexagon) Mat: 1.0716 ’
WZ 8090 3 x 12 2 [ 10 o4 10 05 [ 07 [ 17 35 M3
WZ 80904 x 15 515 os |15 ] o | 13 ] 50 16,0 M4
WZ 80905 x 18 18 | 24 1 121 23108 15 60 20,0 M5
WZ 8090 6 x 20 0 [ 27 [ 13 25 [ 09 | 20 [ 70 20,0 M6
WZ 8090 8 x 22 2 |40 [ 15 30 | 14| 25 | 90 35,0 M8
Wz809010x22 | 22 | 45 [ 15 [ 30 | 14 | 30 | 90 35,0 M10

WZ 809012 x 28 28 6,0 2,7 40 20 40 | 10,0 550 M12
WZ 809016 x32 32 8,5 32 50 25 50 | 450 100,0 M16
WZ 8090 20 x 40 40 100 | 35 70 30 60 | 700 140,0 M20
WZ 809024 x52 52 120 | 35 | 100 | 30 80 | 80,0 180,0 M24

*N1~ = Starting load **N2~ = Final load

17/09/2012

EVERY STEP OF THE WAY



DME —™

- 2

| Hexagon socket screw keys-chrome plated Mat.: 50 CrV4 - DIN 911 SE620 ————
O
n
[N
I
REF x s [ s [ 1 [ [ [ DIN 912 | DIN913-915 | DIN 7991

SE620x 1,5 15 45 14 M1,6-M2 M3
SE620x 2 20 50 16 M2,5 M4
SE620x 2,5 25 56 18 M3 M5 M3
SE620x 3 30 63 20 M4 Mo M5
SE620x 4 40 70 25 M5 M8 Mo
SE620x 5 50 80 2 M6 M10 M8
SE620x 6 6,0 90 32 M8 M12-M14 M10
SE620x 8 8,0 100 36 M10 M16 M12
SE620x 10 10,0 112 40 M12 M18-M20 M14-M16
SE620x 12 12,0 125 45 M14 M22-M24 M18-M20
SE620x 14 14,0 140 55 M16-M18 M22-M20
SE620x 17 17,0 160 63 M20-M22
SE620x 19 19,0 180 70 M24-M27
SE 620 x 22 22,0 200 80 M30

Extra long hexagon socket screw keys-chrome plated Mat.: 50 CrV4 - DIN 911 SE630 ———

O
w
\ =
I
REFx s [ s | I | 12 | DIN 912 | DIN913-915 | DIN 7991

SE630x2 2 100 16 M2,5 M4
SE630x3 3 126 20 M4 Mo M5
SE630x 4 4 140 25 M5 M8 Mo
SE630x5 5 160 2 Mo M10 M8
SE630x6 6 180 32 M8 M12-M14 M10
SE630x8 8 200 36 M10 M16 M12
SE630x 10 10 224 40 M12 M18-M20 M14-M16
SE630x12 12 250 45 M14 M22-M24 M18-M20
SE630x 14 14 280 55 M16-M18 M22-M24

Hexagon socket screw keys with T-handle Mat.: 50 Crv4 - DIN 911 SE640 ——

O
w
I
T 1

SE640x 3 3 100
SE640x 4 4 100
SE640x 5 5 100
SE 640 x 6 6 100
SE640x 8 8 100

17/09/2012

EVERY STEP OF THE WAY



Accessories - 4

PM { Shoulder screws Mat.: 35 NC 6 +£1100-1200 N/mm?

08
=Sh
=3 @ | \\I/ /
I ~—
G F
B | Ldr | _C

PM 5x6 9 [ 4 [ 8] 6| 325 | [PM8x120 4] 6112105 | 40| [PM16x25 8 | 12 25| 20| 1080
PM 5x8 9 [ 4 8|6 3|25 | [Pm8x125 4 611210 5 | 40| [PM16x30 8 | 12| 25| 20 | 1080
PM 5x10 9 | 4 | 8|6 3|25 [Pm8x140 14 6 12| 10| 5 | 40| [PMm16x32 8| 12| 25| 0| 1080
PM 5x12 9 4 8|6 3|25 | |PM8x160 4 611210 5 | 40| [PM16x40 8 | 12| 25| 20 | 1080
PM 5x14 9 | 486|325 Pm10x8 188 16| 12| 6|50 | PM16x50 B 12|25 0|08
PM 5x16 9 | 4 | 8|6 3|25 [Pm10x10 18 8 16| 12| 6|50 | |PM16x60 B | 1225 0 | 10|80
PM 5x20 9 [ 4 [ 8|6 325 [Pm10x12 188 16| 12| 6|5 | [PM16x70 B 12 [ 5[ 0| 1080
PM 5x25 9 4 | 8| 6325 Pm10x14 188 16| 12| 6|50 | PM16x80 B 122501080
PM 5x30 9 [ 4 | 8| 6|3 25| [Pm10x16 188 16| 12| 6|50 | [PM16x90 B | 1225 0 | 10|80
PM 5x32 9 4 | 8|6 3|25 [Pm10x20 1818 16| 12| 6|5 | [PM16x100 B 122501080
PM 5x40 9 | 4 8|6 3|25 [Pm10x25 818 16| 12| 6|5 | [PM16x110 B 1225 01080
PM 5x50 9 | 4 | 8| 6 3|25 [Pm10x30 18 8 16| 12| 6|50 | [PM16x120 B | 1225 [0 | 10|80
PM 5x60 9 | 4 | 8|6 3|25 [Pm10x32 818 16| 12| 6|50 | [PM16x125 B 12 [ 5[ 01080
PM 5x63 9 4 8| 6 3|25  [Pm10x40 181 8 16| 12| 6|50 | [PM16x140 B 122501080
PM 6x6 11 5 | 0|8 4|30 |Pm10x50 8 8 16| 12| 6|50 | [PM16x160 B | 1225 0 | 10|80
PM 6x8 115 | 0|8 4|30 |PM10x60 1818 16| 12| 6|50 | [PM16x200 B 12 [ 5[ 01080
PM 6x10 115 | 0|8 4|30 [PMm10x70 818 16| 12| 6|50 | [PM16x250 B 122501080
PM 6x12 11 5 | 0|8 4|30 |Pm10x80 8] 8 | 16|12 6|50 | |PMm20x20 3% | 16| 32| 5| 4|0
PM 6x14 115 | 0|8 4|30 |[PMm10x90 18] 8 | 16|12 6|50 | |PM20x25 3% | 16| 32| 5 | 14|10
PM 6x16 115 | 0|8 4|30 |Pm10x100 188 | 16|12 6|50 |PM20x30 % | 16| 32| 5 | 14|10
PM 6x20 115 |08 4|30 |Pmiox110 88 | 16|12 6|50 |PMm20x32 3% | 16| 32| 5| 4|0
PM 6x25 115 | 0|8 | 4|30 [PMm10x120 18] 8 | 16|12 6|50 | |PM20x40 % | 16| 32| 5 | 14|10
PM 6x30 115 | 0|8 | 4|30 |Pm10x125 18] 8 | 16|12 6|50 |PM20x50 % | 16| 32| 5 | 14|10
PM 6x32 115 | 0|8 | 4|30 |Pm10ox140 18] 8 | 16|12 6|50 | |PM20x60 3% | 16| 32| 5 | 4|0
PM 6x40 115 | 0|8 | 4|30 |PM10x160 18] 8 | 16|12 6|50 |PM20x70 % | 16| 32| 5 | 14|10
PM 6x50 115 | 0|8 | 4|30 |PM10x200 188 | 16|12 6|50 | |PM20x80 3% | 16| 32| 5 | 14|10
PM 6x60 15 | 0] 8 | 4|30 [Pm12x10 210 0| 6] 8 | 60| [PM20x90 3% | 16| 32| 5| 4|0
PM 6x70 s 0] 8 430/ [Pm12x12 210 0| 6] 8 | 60| [PM20x100 % | 16| 32| 5 | 14|10
PM 6x80 s L0l 8| 430 Pm12x14 210 0| 6] 8 | 60| [PM20x110 % | 16 | 32| 5 | 14|10
PM 6x90 s 0] 8 430 [PMm12x16 210 0| 6| 8 | 60| [PM20x120 3% | 16| 32| 5| 4|0
PM 6x100 s 0| 8] 430 [Pm12x20 210 0| 6] 8 | 60| [PM20x125 % | 16| 32| 5 | 14|10
PM 6x110 s 0] 8] 430 [Pm12x25 210 0| 6] 8 | 60| [PM20x140 % | 16| 32| 5 | 14|10
PM 8x6 4 6 205 40| [Pm12x30 210 06| 8 | 60| [PM20x160 % | 16| 32| 5 | 14|10
PM 8x8 4 6 12105 | 40| [Pm12x32 210 0| 16| 8 | 60| [PM20x200 3% | 16 | 32| 5 | 14|10
PM 8x10 4 6112105 | 40| [Pm12x40 210 0| 6] 8 | 60| [PM20x250 3% | 16| 32| 5 | 14|10
PM 8x12 4 6 205 40| [Pm12x50 210 0] 6|8 | 60| [PM24x50 55 0 | w0 [ 32 [ 17 |10
PM 8x14 4 61 12105 40| [PM12x60 210 0| 6] 8 | 60| [PM24x60 520 | w0 [ 32 [ 17 |10
PM 8x16 4 61 12105 | 40| [PMm12x70 210 0| 6] 8 | 60| [PM24x70 520 | 40 [ 32 [ 17 |10
PM 8x20 4 6 12105 40| [Pm12x80 210 0] 6| 8 | 60| [PM24x80 55 20 | w0 |32 [ 17 |10
PM 8x25 4 61 12105 40| [Pm12x90 210 0| 16| 8 | 60| [PM24x90 5 20 | 40 [ 32 [ 17 |10
PM 8x30 4 612105 | 40| [PMm12x100 2020 6|8 |60 [PM24x100 520 | w0 [ 32 [ 17 |10
PM 8x32 4 6 20| 5 40| [Pm12x110 200 6|8 60 [PM24x110 55 20 | w0 |32 [ 17 |10
PM 8x40 4 6 1210 5 | 40| [PMm12x120 2020 6] 8 |60 [PM24x120 520 | w0 [ 32 [ 17 |10
PM 8x50 4 6 1210 5 | 40| [PM12x125 2020 6] 8 |60 [PM24x125 520 | 40 [ 32 [ 17 |10
PM 8x60 4 6 20 5 40| [Pm12x140 200 6|8 |60 [PM24x160 55 0 | w0 [ 32 [ 17 |10
PM 8x70 4 6 12105 | 40| [PM12x160 2020 6] 8 |60 [PM24x200 5 20 | 40 [ 32 [ 17 |10
PM 8x80 4 612105 | 40| [PM12x200 2020 6|8 |60 [PM24x250 5 20 | w0 | 32 | 17 |10
PM 8x90 W 6 | 1210 5 [ 40| |[PMm12x250 202068 |60

PM 8x100 4 6 1205 | 40| [PMm16x16 8 | 12| 25| 20 | 1080 o
PM 8x110 4 612105 40| [Pm16x20 8 | 12 25| 20 | 10 80 §

- 68 - www.dmeeu.com EVERY STEP OF THE WAY



@E’]i

(DME — Accessories

’ Shoulder screws Mat: Casemrdenmg“;?nlﬂzzs? }’ W/Z 412

>

M1 | 12
WZ 412-6x10 M5 10 45 95 3 24 WZ 412-12x30 M10 18 9,0 16,0 6 49
WZ 412-6x16 M5 10 45 95 3 24 WZ 412-12x40 M10 18 9,0 16,0 6 49
WZ 412-6x20 M5 10 45 95 3 24 WZ 412-12x50 M10 18 9,0 16,0 6 49
WZ 412-6x25 M5 10 45 95 3 24 WZ 412-12x60 M10 18 9,0 16,0 6 49
WZ 412-6x30 M5 10 45 95 3 24 WZ 412-12x70 M10 18 9,0 16,0 6 49
WZ 412-6x40 M5 10 45 95 3 24 WZ 412-12x80 M10 18 9,0 16,0 6 49
WZ 412-6x50 M5 10 45 95 3 24 WZ 412-12x90 M10 18 9,0 16,0 6 49
WZ 412-6x60 M5 10 45 95 3 24 WZ 412-12x100 M10 18 9,0 16,0 6 49
WZ 412-8x16 Mo 13 55 11,0 4 33 WZ 412-12x120 M10 18 9,0 16,0 6 49
WZ 412-8x20 Mo 13 55 11,0 4 33 WZ 412-16x30 M12 24 11,0 18,0 8 6,2
WZ 412-8x25 Mo 13 55 11,0 4 33 WZ 412-16x40 M12 24 11,0 18,0 8 6,2
WZ 412-8x30 Mo 13 55 11,0 4 33 WZ 412-16x50 M12 24 11,0 18,0 8 6,2
WZ 412-8x40 Mo 13 55 11,0 4 33 WZ 412-16x60 M12 24 11,0 18,0 8 6,2
WZ 412-8x50 Mo 13 55 11,0 4 33 WZ 412-16x70 M12 24 11,0 18,0 8 6,2
WZ 412-8x60 Mo 13 55 11,0 4 33 WZ 412-16x80 M12 24 11,0 18,0 8 6,2
WZ 412-8x70 Mo 13 55 11,0 4 33 WZ 412-16x90 M12 24 11,0 18,0 8 6,2
WZ 412-8x80 Mo 13 55 11,0 4 33 WZ 412-16x100 M12 24 11,0 18,0 8 6,2
WZ 412-8x90 Mo 13 55 11,0 4 33 WZ 412-16x120 M12 24 11,0 18,0 8 6,2
WZ 412-8x100 Mo 13 55 11,0 4 33 WZ 412-20x40 M16 30 140 22,0 10 8,8
WZ 412-10x16 M8 16 70 13,0 5 41 WZ 412-20x50 M16 30 140 22,0 10 88
WZ 412-10x20 M8 16 70 13,0 5 41 WZ 412-20x60 M16 30 140 22,0 10 88
WZ 412-10x25 M8 16 70 13,0 5 41 WZ 412-20x70 M16 30 140 22,0 10 88
WZ 412-10x30 M8 16 70 13,0 5 41 WZ 412-20x80 M16 30 140 22,0 10 88
WZ 412-10x40 M8 16 70 13,0 5 41 WZ 412-20x90 M16 30 140 22,0 10 88
WZ 412-10x50 M8 16 70 13,0 5 41 WZ 412-20x100 M16 30 140 22,0 10 88
WZ 412-10x60 M8 16 70 13,0 5 41 WZ 412-20x120 M20 36 16,0 270 12 10
WZ 412-10x70 M8 16 70 13,0 5 41 WZ 412-24x50 M20 36 16,0 270 12 10
WZ 412-10x80 M8 16 70 13,0 5 41 WZ 412-24x60 M20 36 16,0 270 12 10
WZ 412-10x90 M8 16 70 13,0 5 41 WZ 412-24x70 M20 36 16,0 270 12 10
WZ 412-10x100 M8 16 70 13,0 5 41 WZ 412-24x80 M20 36 16,0 270 12 10
WZ 412-12x16 M10 18 90 16,0 6 49 WZ 412-24x90 M20 36 16,0 27,0 12 10
WZ 412-12x20 M10 18 90 16,0 6 49 WZ 412-24x100 M20 36 16,0 27,0 12 10
WZ 412-12x25 M10 18 90 16,0 6 49 WZ 412-24x120 M20 36 16,0 27,0 12 10

17/09/2012

EVERY STEP OF THE WAY



